Pre-Calculus 12 Name:
Ch. 3 Review Block:

Describe how the graph y =+/x has been transformed.
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Write the equation of the image of y = x? after the following transformations.
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L1. A vertical expansion by 3, a vertical reflection in the x-axis, and a translation 4 units

left and 5 units down. %
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Write the equation of the image of y = f(x) after the following transformations.

= .Wﬂ,@ﬁ%*mv -4
M,m\ﬂ bm%ﬁww

C2. A translation 5 units ieft and 4 units down.

F2. A horizontal reflection in the y-axis.
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I2. A vertical compression by 1/3 and a horizontal expansion by 5.

.2. A horizontal compression by 1/3, a vertical compression by ,_\u: a :o:uo:.nm_ reflection
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Determine the equation of the inverse, restricting the domain of the original function if

necessary.
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Given f(x), sketch the graph of each function. ¥
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